
3/ gS;f kf; b:t'/ M 

qm=;+= 3/sf] agfj6 

/fhdfu{ tyf d'Vo 

ahf/ ;8ssf] bfofF 

afofF aGg] 3/sf] b/ 

k|lt ju{ lkm6 -?_ 

cGo lkr 

;8ssf] bfofF 

afofF aGg] 3/ 

sf] b/ k|lt ju{ 

lkm6 -?_ 

sRrL tyf 

u|fdL0f ;8sdf 

aGg] 3/sf] k|lt 

ju{ lkm6 -?_ 

1. cf/=l;=l;= 9nfg 

agfj6 

   

s_ e'O{ tnf 3.00 2.50 0.75 
v_ k|yd tnf 3.50 3.00 1.00 
u_ bf];|f] tyf / ;f] eGbf 

dfly 

4.00 3.50 1.25 

2. nf]8 ljol/Ë agfj6sf] 

9nfg tyf s8L kf6g 

   

s_ e'O{ tnf 2.50 2.00 0.75 
v_ k|yd tnf 3.00 2.50 0.75 
u_ bf];|f] tyf / ;f] eGbf 

dfly 

3.50 3.00 1.00 

#= O§f nufO{  l;d]G6 jf 

df6f] d;nf hf]8fO{ 

ul/ ag]sf] 

   

s_ e'O{ tnf 2.00 1.50 0.25 
v_ k|yd tnf 3.00 2.00 0.50 
u_ bf];|f] tyf / ;f] eGbf 

dfly 

3.50 2.50 0.75 

$= slRr 3/ 1.50 1.00 0.25 
 sDkfp08 afn k|lt 

/lgª\ ld6/ 

3.00 2.50 0.50 

 3/, gS;f kf; lgj]bg kmf/fd %)) 3/ gS;f lstfa ;lxt 

gS;f kf; ubf{ n]vfÍg z'Ns M 

s_ ^% ju{ ld6/;Dd ?= $)).– 

v_ ^^ ju{ ld6/ b]lv () ju{ ld6/;Dd ?= ^)).– 

u_ (! ju{ ld6/ b]lv !!% ju{ ld6/;Dd ?= !))).– 

3_ !!^ ju{ ld6/ b]lv dfyL  ?= @))).– 
gf]6 M  

 Ohfht glnO{ lgdf{0f sfo{ ;DkGg k|df0f kq lng cfPdf gS;f kf; b:t'sf] %) k|ltzt yk b:'t/ nfUg]5 . 

 gS;f kf; k|lqmofdf /x]sf] cj:yfdf . 

s_ Ps r/0f cuf8Lsf] sfo{ ;'? u/]df k|lt ju{ lkm6 ?= !.– 

v_ Ps r/0f cuf8Lsf] sfo{ ;DkGg u/]df k|lt ju{ lkm6 ?= !=%) 

 ;fj{hlgs hUuf tkm{ tf]lsPsf] ;]6 Jofs g5f]8]sf] xsdf k|lt ju{ lkm6 ?= %).– 

 ufpFkflnsfaf6 tf]lsPsf] v'Nnf If]q g5f]8L lgdf{0f sfo{ u/]df k|lt ju{lkm6 ?= %).– 

 k"j{ l:js[lt lnO{ gS;fkf; ePsf] xsdf yk ;+/rgfsf] dfq k|rlnt lgodfg';f/ lng] .  

 gS;fkf; u/L ;s]k5L b'O{ jif{ leq lgdf{0f sfo{ ul/;Sg' kg]{5 . olb ;f] cjlw leq lgdf{0f ;DkGg gePdf Dofb yk ubf{ 

klxn] nfu]sf] b:t'/sf] b'O{ k|ltzt yk b:t'/ lnO{ k'gM b'O{ jif{sf] Dofb yk ul/g] 5 .  

 


